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Note to the students:- All Questions are compulsory and carry equal marks .      
	Q1. 
	Which kind of mode is favorable for MCLR pin for indulging in reset operations?

	Option A:
	Normal mode

	Option B:
	Sleep mode

	Option C:
	Power-down mode

	Option D: 
	Any flexible mode

	
	

	Q2.
	What is the rate of power up delay provided by an oscillator start-up timer while operating at XT, LP and HS oscillator modes?

	Option A:
	512 cycles

	Option B:
	1024 cycles

	Option C:
	2048 cycles

	Option D:
	4096 cycles

	
	

	Q3.
	Where do the contents of PCLATH get transferred in the higher location of program counter while writing in PCL (Program Counter Latch)?

	Option A:
	11th bit

	Option B:
	12th bit

	Option C:
	13th bit

	Option D:
	14th bit

	
	

	Q4.
	How many RPO status bits are required for the selection of two register banks?

	Option A:
	1

	Option B:
	2

	Option C:
	8

	Option D:
	16

	
	

	Q5.
	When do the special address 004H get automatically loaded into the program counter?

	Option A:
	After the execution of RESET action in program counter

	Option B:
	After the execution of ‘goto Mainline‘ instruction in the program memory

	Option C:
	At the occurrence of interrupt into the program counter

	Option D: 
	At the clearance of program counter with no value

	
	

	Q6.
	How many bits are utilized by the instruction of direct addressing mode in order to address the register files in PIC?

	Option A:
	2

	Option B:
	5

	Option C:
	7

	Option D: 
	8

	
	

	Q7. 
	Which registers are adopted by CPU and peripheral modules so as to control and handle the operation of device inhibited in RFS?

	Option A:
	Special Purpose Registers

	Option B:
	General Purpose Registers

	Option C:
	General Function Registers

	Option D: 
	Special Function Registers

	
	

	Q8. 
	Which among the below specified registors are addressable only from bank1 of RFS?

	Option A:
	PORTA (05H)

	Option B:
	PORTB (06H)

	Option C:
	FSR (04H)

	Option D: 
	ADCON0 (07H)

	
	

	Q9.
	Which register acts as an input-output control as well as data direction register for PORTA in bank 2 of RFS?

	Option A:
	INDF (80H)

	Option B:
	TRISB (85H)

	Option C:
	TRISA (85H)

	Option D: 
	PCLATH (8A)

	
	

	Q10. 
	Which condition results in setting the GIE bit of INTCON automatically?

	Option A:
	Execution of retfie instruction at the beginning of ISR

	Option B:
	Execution of retfie instruction at the end of ISR

	Option C:
	Execution of retfie instruction along with interrupt enable bit

	Option D: 
	Execution of retfie instruction along with interrupt disable bit

	
	

	Q11. 
	Why is the flag bit TXIF tested or examined in the PIR1 register after shifting all the data bits during the initialization process of USART in asynchronous mode?

	Option A:
	For ensuring the transmission of byte

	Option B:
	For ensuring the reception of byte

	Option C:
	For ensuring the on-chip baud rate generation

	Option D: 
	For ensuring the 9th bit as a parity

	
	

	Q12. 
	Which bit of OPTION register has a potential to decide the falling or rising edge sensitivity for the external interrupt INT?

	Option A:
	RBPU

	Option B:
	INTEDG

	Option C:
	PSA

	Option D:
	RTS

	
	

	Q13.
	How can the direction of the DC motor be changed?

	Option A:
	by changing the torque

	Option B:
	by changing the switching speed

	Option C:
	by changing the polarity of voltages connected to the leads

	Option D: 
	by changing the RPM rating

	
	

	Q14. 
	Which timer possess an ability to prevent an endless loop hanging condition of PIC along with its own on-chip RC oscillator by contributing to its reliable operation?

	Option A:
	Power-Up Timer (PWRT)

	Option B:
	Oscillator Start-Up Timer (OST)

	Option C:
	Watchdog Timer (WDT)

	Option D: 
	Power-Set Timer(PST)

	
	

	Q15.
	Which condition of MCLR (master clear) pin allow to reset the PIC?

	Option A:
	High

	Option B:
	Low

	Option C:
	Moderate

	Option D: 
	Very High

	
	

	Q16. 
	What is the purpose of using the start-up timers in an oscillator circuit of PIC?

	Option A:
	For ensuring the inception and stabilization of an oscillator in a proper manner

	Option B:
	For detecting the rise in VDD

	Option C:
	For enabling or disabling the power-up timers

	Option D: 
	For generating the fixed delay of 72ms on power-up timers

	
	

	Q17.
	Where should the value of TX9 bit be loaded during the 9 bit transmission in an asynchronous mode?

	Option A:
	TXSTA

	Option B:
	RCSTA

	Option C:
	SPBRG

	Option D:
	SSPIF

	
	

	Q18.
	What is the status of shift clock supply in an USART synchronous mode?

	Option A:
	Master-externally, Slave-internally

	Option B:
	Master & Slave (both) – internally

	Option C:
	Master & Slave (both) – externally

	Option D: 
	Master-internally, Slave-externally

	
	

	Q19. 
	Which bit plays a salient role in defining the master or slave mode in TXSTA register especially in synchronous mode?

	Option A:
	RSRC

	Option B:
	CSRC

	Option C:
	SPEN

	Option D: 
	SYNC

	
	

	Q20.
	How many upper bits of SSPSR are comparable to the address located in SSPADD especially after the shifting of 8 bits into SSPSR under the execution of START condition?

	Option A:
	7

	Option B:
	8

	Option C:
	16

	Option D:
	32

	
	

	Q21.
	Which of the following determines the next task in the time slice method of task swapping?

	Option A:
	scheduling program

	Option B:
	scheduling application

	Option C:
	scheduling algorithm

	Option D: 
	scheduling task

	
	

	Q22. 
	Rate monotonic scheduling assumes that the :

	Option A:
	processing time of a periodic process is same for each CPU burst

	Option B:
	processing time of a periodic process is different for each CPU burst

	Option C:
	periods of all processes is the same

	Option D: 
	working as shortest job first

	
	

	Q23.
	Which of the following can be used to refer to entities within the RTOS?

	Option A:
	kernels

	Option B:
	system

	Option C:
	applications

	Option D: 
	threads

	
	

	Q24. 
	If a set of processes cannot be scheduled by rate monotonic scheduling algorithm, then :

	Option A:
	they can be scheduled by EDF algorithm

	Option B:
	they cannot be scheduled by EDF algorithm

	Option C:
	they cannot be scheduled by any other algorithm

	Option D: 
	they can be scheduled by SJF algorithm

	
	

	Q25.
	Which of the following can be used to distribute the time slice across all the task?

	Option A:
	time

	Option B:
	counter

	Option C:
	task slicing

	Option D: 
	round-robin
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